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4. Which of the following is equivalent to (4x ) (4 x
F. 64x"

@64.\'\

H. 12x° X

J. 12¢

= 64!

ference 1s 5. What is the value o

5:  xiy=ll X=B

. The sum of the real numbers x alil y is 11. Their dif- Y'\t-‘ Z—ﬂ'
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11. Forallx, 3x+7)*=?

A. 6x+
B. 6x°
C. 9x°
D. 9x°

OF

( 3x+7) (3x1\7)
R 42U Jn.lx t4.9

= O 4 dax+ 49

14
+ 14
+ 49
+21x + 49
+42x + 49

12. What is the slope of the line through (-5,2) and (6,7) in
the standard (x,y) coor

F. 9
G. 5§
H. -5

oF

K.

dinate plane?

‘{z“lf\ 7"2 _(;7__

XX, 6-E8) ]

ms=
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14. What is the length, in feet, of the hypotenuse of a right
triangle with legs that are 6 feet long and 7 feet long,
respectively?

R 2
N §47 =x>
Qs N ) =X

J. 21

3449 =g5=X"
(NS

23. Which of m is a Lulorcd form of the

expression Sx° — 13x -6 7
(x - 3)(5x + 2) |5 -t-z
(x - 2)(5x - 3) — 'V

C. (x=2)5x+

D. (x+2)(5x-3)

E. (x+3)(5x-2)

5X = 15xt2x-b
5x{ X -3) +3(X=3) = () (w2
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33. For a population that grows at a constant rate of r% per

year, the formula P(7) = I".(

- ) models the popu- t
lation ¢ years after an 1nitial population of p, people 1s -'? (L# ‘\)

counted.

The population of the city of San Jose was 782,000 in
1990. Assume the population grows at a constant rate
of 5% per year. According to this formula, which of
the following is an expression for the population of
San Jose in the year 2000 ?
A.

B.

D.
E.

782,000(6)"
782,000(1.5)"°
782,000(1.05)"°
(782,000 x 1.5)'"°
(782,000 x 1.05)"°

(9
75000 [+ 5




